>
20124£3H25H~9F 308 FES BEER(eEDRR6. ZOMERIR) JTA/RAC
EDHRREOR =0
P T 1% B IX TR AR 1 BRI TR
B 4/1-26. 4/1-26.
5/7-1/5. | BIBIE®D| 4/21-5/6 | BEIED| 7/6-12 M3IEQ@| /%1% myz1m@)|3/25-31 W3IEQ|7/20-8/2 W31%E@)| 8/3-16 BBER 5/7-1/5. | BBIEQ 27-5/6 | BEED| 1/6-12 WER| ]IS WEiE@|8/25-31 WIER)|7/20-8/2 W3I%Q)| 8/3-16 HZ1EQ)
9/1-30 9/1-30
1 JTA 36,300 11%| 36,300 11%| 38,500 10%| 38,500 10%| 42,400 1%| 42,400 1%| 42,400 1%| 35,500 13%| 35,500 13%| 38,500 10%| 38,500 10%| 42,400 1%| 42,400 1%| 42,400 1%
2 JTA 30,100 12%| 30,100 12%| 32,600 10%| 32,600 10%| 35,900 1%| 35,900 1%| 35,900 1%| 29,000 15%| 29,000 15%|) 32,600 10%| 32,600 10%| 35,900 1%| 35,900 1%| 35,900 1%
3 JTA 23,800 13%| 23,800 13%| 26,200 11%| 26,200 11%| 29,100 2%| 29,100 2%| 29,100 2%| 22,500 18%| 22,500 18%| 26,200 11%| 26,200 11%| 29,100 2%| 29,100 2%| 29,100 2%
4 JTA 50,500 15%| 50,500 15%| 53,400 13%| 53,400 13%| 61,000 1%| 61,000 1%| 61,000 1%| 42,850 28%| 42,850 28%| 53,400 13%| 53,400 13%| 61,000 1%| 61,000 1%| 61,000 1%
5 JTA 47,200 15%| 47,200 15%| 50,000 13%| 50,000 13%| 57,200 1%| 57,200 1%| 57,200 1%| 40,400 27%| 40,400 27%| 50,000 13%| 50,000 13%| 57,200 1%| 57,200 1%| 57,200 1%
6 JTA — f— f— — f— f— 46,200 13% — — 52,800 1%| 52,800 1% — — f— f— f— f— 46,200 13% — — 52,800 1%| 52,800 1%
7 JTA 41,500 14%| 41,500 14%| 43,900 13%| 43,900 13%| 50,100 1%| 50,100 1%| 50,100 1%| 35,500 27%| 35,500 27%| 43,900 13%| 43,900 13%| 50,100 1%| 50,100 1%| 50,100 1%
8 JTA 39,900 15%| 39,900 15% — f— — — — — — — — — 39,900 15%| 39,900 15% — f— — — — — — — — —
9 JTA 45,600 14% —— — f— f— — — -— — — — — — 45,600 14% — f— f— f— — — — — — — — —
10 | /M= 3$EE (FRER) JTA 36,200 11%| 36,200 11%| 38,400 10%| 38,400 10%| 42,400 1%| 42,400 1%| 42,400 1%| 33,400 18%| 33,400 18%| 38,400 10%| 38,400 10%| 42,400 1%| 42,400 1%| 42,400 1%
11 | AEE=%# FH) JTA 32,650 15%| 32,650 15%| 36,400 11%| 36,400 11%| 40,300 1%| 40,300 1%| 40,300 1%| 31,000 20%| 31,000 20%| 36,400 11%| 36,400 11%| 40,300 1%| 40,300 1%| 40,300 1%
12 | L= GRE) JTA 30,100 12%| 30,100 12%| 31,900 12%| 31,900 12%| 35,900 1%| 35,900 1%| 35,900 1%| 27,750 19%| 27,750 19%|) 31,900 12%| 31,900 12%| 35,900 1%| 35,900 1%| 35,900 1%
13 | HB (BT =FHi8 JTA 19,000 17%| 19,000 17%| 20,500 15%| 20,500 15%| 23,600 2%| 20,500 15%| 23,600 2%| 17,200 25%| 17,200 25%| 20,500 15%| 20,500 15%| 23,600 2%| 20,500 15%| 23,600 2%
14 | B ==& [JTA/RAC 9,900 43%| 14,500 17%|) 9,900 47%| 15,700 16%| 9,900 47%| 15,700 16%| 18,100 3% 9,800 44%| 13,200 25%| 9,800 47%| 15,700 16%| 9,800 47%| 15,700 16%| 18,100 3%
15 | A== RAC 9,900 17% 9,900 17%| 10,800 13%| 10,800 13%| 11,900 4%| 10,800 13%| 11,900 4% 8,650 27% 8,650 27%| 10,800 13%| 10,800 13%| 11,900 4%| 10,800 13%| 11,900 4%
16 | $8 (A =AXKE |JTA/RAC 9,700 18% 9,700 18%| 10,700 13%| 10,700 13%| 11,800 4%| 10,700 13%| 11,800 4% 8,600 27% 8,600 27%| 10,700 13%| 10,700 13%| 11,800 4%| 10,700 13%| 11,800 4%
17 | AiEE=5E JTA/RAC] 9,700 18% 9,700 18%| 10,700 13%| 10,700 13%| 8,250 33%| 10,700 13%| 11,800 4% 8,600 27% 8,600 27%| 10,700 13%| 10,700 13%| 8,250 33%| 10,700 13%| 11,800 4%
18 | A8 (BH) =5k RAC 12,400 13%| 12,400 13%| 13,900 9%| 13,900 9%| 14,800 3%| 13,900 9%| 14,800 3% 12,300 13%| 12,300 13%|) 13,900 9%| 13,900 9%| 14,800 3%| 13,900 9%| 14,800 3%
19 | B (BH) =EEKXS RAC 20,700 11%| 20,700 11%| 22,200 9%| 22,200 9%| 23,900 2%| 22,200 9%| 23,900 2%| 19,950 14%| 19,950 14%| 22,200 9%| 22,200 9%| 23,900 2%| 22,200 9%| 23,900 2%
20 | h#B(AFH) =MAR| RAC 22,100 11%| 22,100 11%| 22,600 9%| 22,600 9%| 15,800 37%| 22,600 9%| 22,600 9%| 21,150 15%| 21,150 15%|) 22,600 9% 22,600 9%| 15,800 37%| 22,600 9%| 22,600 9%
21 | h#B(AFH) =L KE| RAC 22,100 11%| 22,100 11%| 22,600 9%| 22,600 9%| 15,800 37%| 22,600 9%| 22,600 9%| 21,150 15%| 21,150 15%|) 22,600 9% 22,600 9%| 15,800 37%| 22,600 9%| 22,600 9%
22 | mRE=IKE RAC 7,100 14% 7,100 14%| 7,600 8% 7,600 8%| 7,600 8%| 7,600 8%| 7,600 8% 7,050 15% 7,050 15%) 7,600 8% 7,600 8%| 7,600 8%| 7,600 8%| 7,600 8%
23| EH=%2EM RAC 7,300 14% 7,300 14%| 7,800 8% 7,800 8%| 5,450 36%| 7,800 8%| 7,800 8% 7,250 15% 7,250 15%) 7,800 8% 7,800 8%| 5,450 36%| 7,800 8%| 7,800 8%
24 | h#E(AE) =5BE RAC 26,600 16%| 26,600 16%| 28400 15%| 28,400 15%| 32,900 1%] 28,400 15%| 32,900 1% 21,750 31%| 21,750 31%| 28400 15%| 28,400 15%| 32,900 1%] 28,400 15%| 32,900 1%]
X [ECRRE S, o ESER 6MMMM]
S (BB —BE. Bh. AkE. 5H. BEAE. BAR. LAR. GHE. GE-84. 5HE.
AAR=LAR, T=2%RM%ICEA
# /1-1/5,.9/1-9/30 HARA D : 7/6-8/2, 8/17-8/31  HARI : 3/25-3/31, 8/3-8/16
R HEI B
HARI I - 4/1-7/5. 9/1-9/30 HARA D : 7/6-7/19. 8/17-8/31 HARMIN : 3/25-3/31. 7/20-8/16

FNEIRQ:BEEH [KATBEER XL
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JAL/JTA/JAC/RAC

BEEE|

QE:3:: s 4120 LIS MBIRD|-0/s0iR| BIFIRD| 2150k BIZIRD|0/25-31 1885 BEIRR)|1/6-1218%5 BEIER)|1/10-0/01850 BZ1EQ)
RE—FE@EE)| JTA | BAiE— 98 (BH) 9,400 59% 9,400 59% 9,400 59% 16,100 33% 9,700 60% 9,700 60%
fAiE—=d  |[JTA/RAC]  FiE—-FH 4,900 59% 4,900 59% 4,900 59% 8,200 34% 4,900 60% 4,900 60%
RIE—5PE [JTA/RAC] FHiE—5HE 4,900 58% 4,900 58% 4,900 58% 5,700 54% 4,900 60% 4,900 60%
RiE—EZ JTA RiEE—BRR 40,700 31%] 40,700 31% 40,700 31% 41,200 33%| 41,200 33%| 41,200 33%
AiE—EX JTA | RiEE—H#E (A &) 14,500 37% 14,500 37% 14,500 37% 14,700 39% 14,700 39% 14,700 39%
JAL/JTA| 48 (BE) — R 26,200 36% 26,200 36% 26,200 36% 26,500 38% 26,500 38% 26,500 38%
[ih#8 (BRE) ] it 40,700 36%| 40,700 36%| 40,700 36% 41,200 39% 41,200 39%| 41,200 39%)
AiE—-KR JTA FiE— KR 33,500 31% 33,500 31% 33,500 31% 33,950 33% 33950 33% 33,950 33%)
AiE— KR JTA | BE— 8 (A EH) 14,500 37% 14,500 37% 14,500 37% 14,700 39% 14,700 39% 14,700 39%
JAL/JTA| & (BRER) — KBR 19,000 44% 19,000 44% 19,000 44% 19,250 47% 19,250 47% 19,250 47%
Ui (AR ] H 33,500 41%| 33,500 41%| 33,500 41%| 33,950 44%| 33950 44% 33,950 44%

AE—&GE JTA AE—&EE 38,650 27% — — — — — — — — — —
FiE—-2EE JTA | BE—AHB(RE) 14,500 37% 14,500 37% 14,500 37% 14,700 39% 14,700 39% 14,700 39%
JTA (BB —2EH 24,150 37% 24,150 37% 24,150 37% 24,750 39%| 24,750 39% 24,750 39%
[ (GRER) ] it 38,650 37% 38,650 37% 38,650 37% 39,450 39%| 39,450 39%| 39,450 39%
RiE—EME JTA | BE—AHBRE) 14,500 37% 14,500 37% 14,500 37% 14,700 39% 14,700 39% 14,700 39%
JTA | iR (BRER) — 1 16,100 41% 16,100 41% 16,100 41% 17,250 42% 17,250 42% 17,250 429
[ (GRER) ] it 30,600 39% 30,600 39% 30,600 39% 31,950 41%| 31,950 41% 31,950 41%
=i —F# (BH) |JTA/RAC| By — 4 (AR ) 9,800 44% 6,100 65% 11,950 32% 9,800 47% 9,800 47% 12,550 33%
BO—ER JTA BEO—HRE 38,100 31% 38,100 31% 38,100 31% 38,700 33%| 38,700 33%| 38,700 33%

B — AR JTA B — AR 32,050 32%  — — 32,050 32%  — — — — — —
BE—KAR |JTA/RAC| = — i (AN &) 9,800 44% 6,100 65% 11,000 37% 9,800 47% 9,800 47% 11,200 40%
JAL/JTA| 8 (BRER) — KR 21,050 38% 21,050 38% 21,050 38% 22,300 39% 22,300 39% 22,300 39%
[ih#8 (ARE) ] it 30,850 40% 27,150 47% 32,050 38% 32,100 42%| 32,100 42% 33,500 39%
KB — 048 (VB JTA/RACA XK B — 18 (R 4,900 58% 4,900 58% 4,900 58% 5,700 54% 4,900 60% 4,900 60%
AXB—®==m | JTA AKB—E=R — — — — — — — — — 35800 33%
5 E — (| RAC [SHE — il (R 12,900 59% 12,900 59% 12,900 59% 22,100 34% 13,300 60% 13,300 60%
BERE—EBEXE| JAC [ERE-EEXXE 15,750 32%| 15,750 32%| 15,750 32%| 16,150 36%| 16,150 36% 16,150 36%
ERE-—f#zE | JAC | ERE-#2S 18,500 31%| 18,500 31%| 18,500 31%| 18,500 36%| 18,500 36% 18,500 36%
BRSBTS | JAC | BRE—1BFS 9,200 27% 9,200 27% 9,200 27% 9,200 27% 9,200 27% 9,200 27%
BERSE—EBAS | JAC | BRE—EAS 10,200 27% 10,200 27% 10,200 27% 10,200 27% 10,200 27% 10,200 27%
BRE-ER8 | JAC BERS—ERS 18,250 25% 18,250 25% 18,250 25% 18,250 25%] 18,250 25% 18,250 25%
ERS—4KkBEH| JAC |[ERS—AKBH 22,350 24%| 22,350 24%| 22,350 24%| 22,350 24%| 22,350 24% 22,350 24%
BRE—5#H JAC ERE—5% 23,500 24% 23,500 24% 23500 24% 23500 24%| 23500 24% 23500 24%
TERE-ERE| JAC |EBEXEXE-ERE 6,800 28% 6,800 28% 6,800 28% 6,800 28% 6,800 28% 6,800 28%
BERE-—E2E| JAC |[EEXE-#EZE 9,750 27% 9,750 27% 9,750 27% 9,750 27%| 9,750 27% 9,750 27%
EEXE—kBEE JAC EEXE—HKELH 12450 26%| 12,450 26%| 12,450 26%| 12,450 26%| 12,450 26% 12,450 26%
[FEAE AKETIAC | BEAE -5 8000 | 59% 8000 59% 8000  59%  8000| 59% 8000  59% 8000  59%
# JAC i — ik BB 4,450 56% 4,450 56% 4,450 56% 4,450 56% 4,450 56% 4,450 56%
(5 B 12,450 58% 12,450 58% 12,450 58% 12,450 58%| 12,450 58% 12,450 58%
BEXRE—5# | JAC BEEXXE—5® 14,600 26% 14,600 26% 14,600 26% 14,600 26%| 14,600 26% 14,600 26%
BERKE-5H | JAC [EEXE—HKBE 9,200 45% 9,200 45% 9,200 45% 9,200 45% 9,200 45% 9,200 45%
JAC KRB — 5 5,400 46% 5,400 46% 5,400 46% 5,400 46% 5,400 46% 5,400 46%
[k RER] it 14,600 46% 14,600 46% 14,600 46% 14,600 46%| 14,600 46% 14,600 46%
HKBRE— 55 | JAC KRB — 55 7,150 29% 7,150 29% 7,150 29% 7,150 29% 7,150 29% 7,150 29%
HE — B2 JAC HE 2k 9,550 22% 9,550 22% 9,550 22% 9,550 22% 9,550 22% 9,550 22%
BEIROBEBEYH [KATBESE | xt

B5IRQ: E—VHI KA S BER IR



r f2]11/3/7 11 9H24H8~30 JTA/RAG

EEEAE : 2012/7/24 ~

9/24-30
X &4 M;?aﬁ“ﬁﬁ ¥ g%agq 77 M:ZES*EE hZ] - 5w pZ] ' Eit.
= 5 b = Ll iy = Ll i = [k i = 5
BER gz FF masm T pnx BF mamm TEF gaim)  FE | mam TEE amim B pam TEE giw
SO () =4 G |04 (BPE) | NUO70 | &1 35800 12% =] 100 19% Bl 00| 22% — | — | — — | — | ——
Uo7 5800 | 12% Eil=] 100 19% =Ei 00| 22 — — —— — | —
AR (ZE) =4 (R | KR (BAZE) 56| NU 0,000 | 12% B81 700]_16% Bl 400] 17 — | — | — —— [ — [ ——
U 0,000 12% EBI | 28,700] 16% =k 400 17 — T — T ——
U 0,000 12% BaI 700] 16% BAI 400 17 — | — | —
R (BE) %[ NU 0,000 12% HAl 28700 16% BB 400 17 — | — [ —
U 0,000 12% BaI 700] 16% BAI 400 17 — | — | —
uo 0,000 12% EHRl 28700 16% =Kl 400] 17 — [ — | —
U2 0,000 12% Ba1 700 16% BAI 400 17 — | — | —
BRI =% (8| fBmR | NUO 00 15% B#l | 22,300 19% BRI | 21,800 e —
[ NUO! 00 15% BaI 00| 19% BAI 00 [ e p—
uo 00 15% HRl [22300] 19% Ba1 | 21,800 — T — T ——
uo 00 15% BaI 00| 19% BAI 00 — | — | —
uo 00 15% HRl [22300] 19% Ba1 | 21,800 — T — T ——
uo 00 15% BaI 00| 19% BAI 00 [ e p—
i (3E) 5| NUO 00| 15% =K ,300 | 19% H &l ,800 — — [ —
uo 00 15% BaI 00| 19% BAI 00 [ e p—
uo 00 15% HRl [22300] 19% Ba1 | 21,800 — T — T ——
uo 500 15% BaI 00| 19% BAI 00 — | — | —
uo ,500 | 15% BRI | 22300 19% BH1 | 21,800 — | — | —
uo 500 15 BaI 00| 19% BAl 00 [ e p—
R CHEA) =H18 %z (A8 %[ NUO ,200 20 HAl | 38300 35% BAI 00 39% — T — T ——
RIEF | NUO 47,200 |20 H#i | 38300 35% Bl | 36,300 39% — | — | —
uo 47,200 | 20 HAl | 38300 35% BRI | 36.300 39% T —— | —
HR CHE) =5 | %R (A8 % NUO 44,000 H#i | 38000 32% Bl | 36,000 35% — [ — [ —
uo 44,000 E#l | 38000 32 BRI [ 36,000 35% — | — [ —
| [ =&E%E [NUO 44,000 H#i | 38000 32 Bl | 36,000 35% [ e p—
KB (BE7E) =F 18| AR (37 5| NUO 000 | 24 =k 400 | 27" =Ei 900 | 30% p— — | —
AIEFE | NUO 7,000 24 BaI 400 27 BAl 00 30% — | — | —
RIR (BAEE) =& o | A1 (3% %[ NUO 38,000 HRl [ 35400 24% BRI [ 34,400 26% — | — [ —
E&% | NUO 38,000 19 Bl 400 24% BRI | 34,400 26% — | — | —
ZEE(RE) —HE| asBHHE| NUT — | — — — | — — — | — — | — | —
AIEFE | NUIT — [ — — — | — — — | — P p— i —
A= (B |_/MAFE | NUO: 000 24% EH#l 30000 26% Ba1 | 28,100 — | — | —
s (FBE) 5| NUO 000 [ 24% HBi | 30,000 26% HAI | 28,100 — — [ —
BEE(PH) =4 0 | 252 (PE) | NU 400 16% Hai1 | 30,800 20% EEI_| 30,200 p— P —
[ NU 400 16% H#i [ 30,800 20% Bl | 30,200 22 — | — | —
400 16% HRl 30800 20% BRI | 30200 22% T —— | —
U 400 16% H#i [ 30,800 20% BRI [ 30,200 22% — | — | —
i (3 5| NU 400 16% HAil_| 30,800 | 20% a1 [30.200] 22% p— — | —
U 400 16% H#i [ 30,800 20% BB | 30,200 22% — | — | —
[ NU256 | 2400 16% H#i | 30,800 20% BAI | 30,200 22% — [ — [ —
I Y 2,400 | 16% HRl 30800 20% BRI | 30200 22% T —— | —
WL =8 GIRER) |_RIWLFE | NUOT 7,000 =Kl 000 24% Bl | 24,000 30% — [ — [ —
s (38 5| NUO1 7,000 =K 000 24% EET | 24,000 30% p— — | —
SRR (ARER) =R 18 |44 (1E) %[ NU ,600 B il 000 | 26% =K 00 29% — — | —
U ,600 EHRl [ 17,000 26% BRI | 16300 29% T —— | —
U ,600 H#il [ 17,000] 26% BAl 00| 29% — [ — [ —
U ,600 EHRl [ 17,000 26% BRI | 16300 29% T —— | —
U ,600 H#il | 17,000] 26% BAl 00| 29% — [ — [ —
y ,600 EHRl [ 17,000 26% BRI | 16300 29% T —— | —
U ,600 H#il | 17,000] 26% BAl 00| 29% [ e p—
y ,600 EHRl [ 17,000 26% BRI | 16300 29% T —— | —
U ,600 H#i | 17,000] 26% BAl 00| 29% [ e p—
RIEXE [NU ,600 EHRl [ 17,000 26% BRI | 16300 29% T —— | —
U ,600 H#il | 17,000] 26% BAl 00| 29% [ e p—
y ,600 EHRl [ 17,000 26% BRI | 16300 29% T —— | —
U ,600 EH#il | 17,000] 26% BAl 00| 29% [ e p—
y ,600 EHRl [ 17,000 26% BRI | 16300 29% T —— | —
U ,600 H#i [ 17,000] 26% B AT 00| 29% [ e p—
uo ,600 EH#il | 17,000 26% BAI 00| 29% — | — | —
U6 ,600 EHRl [ 17,000 26% BRI | 16300 29% T —— | —
U6 ,600 H#i | 17,000] 26% BAl 00| 29% — [ — [ —
uo ,600 EHRl [ 17,000 26% BRI | 16300 29% P p—
I W— \S]7X 00 HAT | 17,000 26% Bl 00| 29% — E—
B (FRER) =B e | ol (BT % NUS5 ,200 | 4 AIH | 7,200 | 59% 1200 [ 65% 7 2,600 | 74
[RACS! 00 | 47 BIH | 7,200 | 59% 00 | 65% 7 4,600 | 74
[ NU55 ,200 | 47 BIE | 7,200 | 59% 1200 | 65% 7 4,600 [ 74
[ NU55 00 | 47 BIH | 7,200 | 59% 00 | 65% 7 4,600 | 74
| NU5¢ ,200 | 47 BIE | 7,200 | 59% 1200 | 65% 7 4,600 [ 74
[ NU5¢ 00 | 47 BIH | 7,200 | 59% 00 | 65% 7 4,600 | 74
U5 ,200 | 47 BIE | 7,200 | 59% ,200 | 65% 7 4,600 [ 74
U5 00 | 47 BIH | 7,200 | 59% 00 | 65% 7 4,600 | 74
U57 ,200 | 47 BIE | 7,200 | 59% 1200 | 65% 7 4,600 [ 74
BHF [ NU552 | 00 [ 47 BIH | 7,200 [ 59% 00 [ 65% 7 4,600 | 74
[ NU556 ,200 | 47 BIE | 7,200 | 59% ,200 | 65% 7 4,600 [ 74
[ NU5 00 | 47 BIH | 7,200 | 59% 00 | 65% 7 4,600 | 74
| NU5¢ ,200 | 47 BIE | 7,200 | 59% ,200 | 65% 7 4,600 [ 74
[ NU5¢ 00 | 47 BIE | 7,200 | 59% 00 | 65% 7 4,600 | 74
| NU5¢ ,200 | 47 BIE | 7,200 | 59% ,200 | 65% 7 4,600 [ 74
[ NU5 00 | 47 BIH | 7,200 | 59% 00 | 65% 7 4,600 | 74
U570 ,200 | 47 BIE | 7,200 | 59% 1200 | 65% 7 4,600 [ 74
U572 00 | 47 BIE | 7,200 | 59% 00 | 65% 7 4,600 | 74
RAG804] 200 | 47 BIE | 7,200 | 59% ,200 [ 65 7 4,600 | 74
BEh=HhAE | E5% [RACS3I 800 | 18 = 00 | 19% 400 — | — | —
RAG833 ,800 | 18% [il=] 00 | 19% 400 — T — T ——
RAC837 800 | 18% Bl H 00 | 19% 400 — [ — [ —
RiEHX [RACS32 ,800 | 18% A1 H 00 | 19% 400 — T — T ——
RAC834] ,800 8% B A 00 9% 400 — — [ —
RAGC838 ,800 | 18% [il=] 00 | 19% 400 — T — T ——
(BRI = A K | ## (IR % RAC8T1 00 B E 000 | 24% 00 — | — | —
RAG873 00 A1 H 000 | 24% 600 | 27 T —— | —
RAC875 00 B A 000 4% 00 7 — — | —
RAGC877 00 A1 H 000 | 24% 600 | 27 T —— | —
RAC879 00 B A 000 4% 00 7 — — | —
RAG881 00 =] 000 | 24% 600 | 27 T —— | —
AKE% [RAC8T2 00 B E 000 | 24% 00 | 27 — | — | —
RAG874 00 =] 000 | 24% 600 | 27 T —— | —
RAC876 00 B A 000 4% 00 7 — — | —
RAG878 00 A1 H 000 | 24% 600 | 27 T —— | —
RAC870)] 00 B A 000 4% 00 7 — — | —
RAGC882 00 A1 H 000 | 24% 600 | 27 T —— | —
RE=5RE | HEX [RAC807 ,600 | #iE 000 | 24% |kok® it 00 | 27% |kok® — [ — [ —
5 BREF [RAC806 600 B 000 | 24% |kk£.HEi ,600 7% Jk p— p—— R—
4 (BRI =5 I0E |94 GBI % RACB89 26,100 H [ 25100] 21% |kok&H&n 24,100] 24% |k — | — | —
E[E % [RACE80 26,100 % H_ 25100 21% |kik& Bl 24100 24% |[kok&B@#| — | — | — — | — | —




BEEAE : 2012/7/24 ~
9/24-30
{7A {78
=35)] ~ .
e ¥ EEM
BEIE sl pame | R gz %
TR CHE) =48 () | 748 (BB ) 5 55% 7900 | 56% |H:17,500
53% 1,300 500 | 55% | H:20.500
KR (BE) = () | AR (B ) 5 53% 7500 300 | 58%
59% 5,500 300 |67
59% H:16,000, £:15000 300 |67
TR GRE) R 59% 300 |67
59% 30067
47% | H:20,000 300 | 58% |H:15.300
47% | H:20,000 300 | 58% |H:15300
18R = () FHEES 45% | H:14,000 500 | 47% [H:13,500
54% |4 +:15000, H:13,000 100 | 56% 14,500, H:12.500
56% | 412,600 500 | 58% |£:12.100
56% |2:13,600, H:13,000 500 | 58% |#:13,100, H:12.500
56% |%:13.600, H:13,000 500 | 58% |#:13,100, H:12.500
56% 312,600 500 | 58% 12,100
56% :13,600, H:14.400 500 | 58% 13,100, H:13.900
56% 500 | 58%
56% 500 | 58%
53% |%:14,100, H:15000 500 | 58%
53% |4 H:15,000 500 | 55% |% H:14,500
49% |4 H:16,000 500 | 51% | H:15500
HmCHE) =hE |#mHE) % 52% |4 128,700 28,100 | 53% |% 1:28,600
= 62% 22600 | _62%
55% | H 26,500 | 55% | H:27.300
RE(HE) =24 [ExGHEHE[ N 54% 25200 | 55% 29,200
59% 22,400 |__60% 23,500
=a% | N 58% 3,300 | 58% 6.300
KR (Bf) =hE |AREH) 5% 63% 7500 | 64% |%:20,500. £:18,500
AEE | N 63% 500 | 66% 9,500
Koz (Bad) =28 AR EIHE) & 58% ]
= h %
ZHE(PE) =R1E |26k (P |
G 18 % —
IMAFE 20,000
| bl GR ) 3 | 20,000

HE(PE) R

#
45% |%:21,700, £:19.200, H:23.700 B 20,700 | _46% [2:21,000, £:18,700. H:23.200
45% 1,700, £:19.200, H:23.700 H 20,700 |_46% 1,200, £:18.700, H:23,200
[ENTEEEEIE ) [EIES 46% =] 17,400 | 49% 20,400
SR GRE) % 46% | H:21.400 H 17,400 |_49% | H:20.400
CPRE(GIRER) =R1iE | GE % 63% B 8200 | 64%
63% B 8200 | 64%
44% E 12,400 | 46%
63% B 200
63% H 200
63% B 200
63% E 200
63% H 200
63% E 200
63% H 200
63% E 200
63% H 200
63% E 100 | 65%
63% H 100 | 65%
44% E 12,400 | 46%
E 400 | 46%
(BF) =25 77 B
Ba=AE EEES 25% B
25% E
25% E
Gia% 25% E
25% E
R 25% E
SRR (BB ER) = AR B [P GRED R 36% E
R 36% E
36% E
36% E
36% E
36% E
36% E
AXEBR 36% B
36% E
36% E
36% E
36% E
36% H
36% E
RE=5E RER 40% B
40% [ ROK. & B Ef B
SHMER [ 40% B
R | 40% [XoK& HEfn B
PRAB) =5R [MPRGE R B
5% B
SPHE ) =B R A B [0 GRE) E
EEPN-E E
SRHE (ARER) =FA AR | hal GIRE) %[ | B
MARE B
SRHE () = JL KT |48 BRI % B
AAR=LXE HARHE B
=o =% RMA RS E
ZRMES B
SRR () =53 E [ G % 40% [KJK.£ B &R B — —
53E% [ RACS80 40% Kok & B S B — [ ——

JTA/RAC



o 4 o
[R—/3—5% & 9A10H~9H30 JTA/RAC
EE#AA 2012/7/24 _~
24 9/10-14. 18-21, 23 9/24-30 9/15 | 9/16 | 9/17 | 9/22
e B2 | BAR ama 500 % wam 500 s B | B | B | B
FR CRIE) =48 (ARER) | %8 (FBF) F | _NU070 | 55HF1 | 16,500 | 60% 6,500 | 60% 16,400 | 16,400 | 17,300 | 16,500
NUO078 | 55881 | 17,500 57% | H:19,400 7,500 | 57% | H:19,400 17,500 | 17,800 | — | 17,500
KB (BAdE) #(H) | KBk (B8F) % [ _NU273 | 55HA] | 12.800 [ 63% 2800 | 63% — | 14,200 | 14,200 | 15,600
NU277 | 558081 | 9,800 | 71% 9,800 71% 3,700 | 12,300 | 12,300 | 13,700
NU279 | 55E18f | 9800 | 71% 9,800 71% 3,200 | 14,200 | 14,200 | 13,200
Sh#% (A% % | _NU270 | 55 A1 | 9.800 |  71% 9,800 71% 2,300 | 12,300 | 12,300 | 12,300
NU274 | 55E180 | 9.800 | 71% 9,800 71% 2,300 | 12,300 [ 12,300 | 12,300
NUO084 | 55E 51 | 12,800 63% | H:13,800 2,800 | 63% | H:13,800 6,100 | 17,000 | — | 16,100
NU280 | 55E08i | 12,800 | 63% | H:13,800 2,800 | 63% | H:13,800 6,600 [ 17,100 [ — | 16,600
B =77 (A5 FEES NUO51 | 55881 | 13,700 | 50% | H:12,700 3,700 | 50% | H:12,700 — | 12,700 | 12,700 | 13,700
NU053 | 55E 8 | 11,300 | 59% |% +:13,700, H:11,700 1,300 | 59% & +:13,700, H:11,700 2,300 | 11,700 [ 11,700 | 12,300
NUO057 | 55B 81 | 10,900 | 60% | %:11,500 0,900 | 60% | %:11,500 0,900 | 10,900 | 10,900 | 10,900
NUO61 | 55E1 8 | 10,900 | 60% | %:12,500, H:11,900 0,900 | 60% 2,500, H:11,900 0,900 [ 11,900 [ —— 710,900
NUO063 | 55E 51 | 10,900 | 60% | %:12,500, H:11,900 0,900 | 60% ,500, H:11,900 0,900 | 11,900 | -— [10,900
NUO065 | 55E R | 11,300 | 59% | H:11,700, £:11,200 1,300 | 59% 111,700, £:11,200 0,900 [ 11,700 [ 11,700 | 10,900
Sh#% (A% % | _NU050 | 55H A1 | 10,800 | 61% & +:12,400, B:13,200 0,800 | 61% 112,400, H:13,200 —— | 13,200 | 13,200 | 12,400
NUO052 | 55E8f | 10,900 | 60% |+ H:10,800 0,900 | 60% :10,800 0,800 | 10,800 | 10,800 | 10,800
NUO054 | 55E 81 | 10,900 | 60% 0,900 | 60% 0,800 | 10,800 | 11,500 | 10,900
NU056 | 55E1Ril | 10,900 | 60% 0,900 | 60% 0,800 | 10,800 [ 11,500 | 10,900
NUO060 | 55881 | 11,700 | 57% | H:13,600 1,700 | 57% % H:13,600 1,700 | 13,600 | 14,000 | 11,700
NUO062 | 55E8i | 12,700 | 54% |4 H:14,600 2,700 | 54% |% H:14,600 2,700 | 14,600 | 15,000 | 12,700
HRCRE) =R B CFIE) % | NUO71 | 55H A1 | 28,000 | 53% % 1:28,500 28,000 | 53% | % 1:28,500 —— | 28,000 | 26,600 | 28,500
RiER NUO070 | 55E18i | 22,500 | 62% 22,500 | 62% 21,900 | 21,900 [ 25,000 | 22,500
NUO78 | 55E 81 | 26400 55% | H:27,200 26,400 | 55% | H:27,200 26,200 | 26,500 | — | 26,400
RECPR) =2t R CPIE) % | _NU021 | 55HAT | 25,100 | 55% |4 +:29,100 25100 | 55% |4 +:29,100 —— [ 27.400 | 27,400 | 29,100
NUO023 | 55B 81 | 22,300 60% | % 1:23,400 2,300 | 60% | % 1:23,400 — | 23,800 | 22,900 | 23,400
B NU022 | 55E 80 | 23,200 | 58% | H:26,200 3,200 | 58% | H:26,200 3,000 | 26,200 [ — | 23400
A% (BBfE) =R1E AR (BH7E) 36 | NU0B3 | 55H Al | 16,400 | 66% | %:19,200, X:17,300 6,400 | 66% | %:19,200, £:17,300 7,300 | 16,400 | 16,400 | 17,300
iR NUO084 | 55E Rl | 15400 | 68% | H:18,200 5400 | 68% |H:18,200 6,200 | 18,200 [ — | 16,200
KPR (BE) == ABR (B§FE) % | NU095 | 55H R | 19,600 | 58% | +:22,100 9,600 58% |&+:22,100 — [ 19,600 | 19,600 | 22,100
EEHE NU098 | 55E Rl | 19,600 | 58% | H:22,100 9,600 | 58% |H:22,100 19,600 | 22700 | — [ 19,600
ZLE(FE) =FE %EE@%{S)? NU173 | 55E080 | —— — — — — — — —
RiEHE NU176 | 558081 | — — — — — — — —
2 H B (P8 =B (BT E (PE)H NU251 | 55HA | 18200 53% [£+:21,000 8,200 53% :21,000 1,000 | 18,200 | 18,200 | 21,000
NU253 | 55E081 | 18,200 | 53% | % +:21,000 8,200 | 53% 1,000 1,000 | 18,200 | 18,200 | 21,000
NU255 | 55E0 81 | 16,800 | 56% | % +:17,200 6,800 | 56% :17,200 7,200 | 16,800 | 16,800 | 17,200
NU257 | 55E18i | 9.800 | 75% 9,800 75% 9,800 | 9,800 | 9,800 | 9,800
Sh#% (FN%R) % | _NU252 | 558 A0 | 9.800 | 75% 9,800 75% 9,800 | 9,800 | 9,800 | 9,800
NU254 | 55E 81 | 17,700 | 54% | H:20,100 17,700 | 54% | H:20,100 17,700 | 20,100 | 20,500 | 17,700
NU176 | 55881 | — — — — — — — —
NU256 | 55E08i | 19,600 | 49% |%:20,100, £:17,700, H:22,000 | 19600 | 49% | %:20,100. £:17,700, H:22,000 | 17,700 | 22,000 | 22,500 | 17,700
NU258 | 55E1 81 | 19,600 | 49% |%:20,100, £:17,700, H:22,000 | 19,600 | 49%  %:20,100, £:17,700, H:22,000 | 17,700 | 22,000 | 22,500 | 17,700
(SR =R S8 GIRR) % [_NU601 | 55877 | 7.800 66% 7.800 66% 7,800 | 7,800 | 7,800 | 7,800
NU603 | 55B 81 | 7,800 | 66% 7,800 66% 7,800 | 7,800 | 7,800 | 7,800
NU605 | 55E1 Rl | 11,800 | 49% 11,800 | 49% 11,800 | 11,800 | 11,800 | 11,800
NU609 | 55B1 81 | 7,800 | 66% 7,800 66% 7,800 | 7,800 | 7,800 | 7,800
NU613 | 55E18i | 7.800 | 66% 7,800 66% 7,800 | 7,800 | 7,800 | 7,800
NU615 | 55B 81 | 7,800 | 66% 7,800 66% 7,800 | 7,800 | 7,800 | 7,800
NU619 | 55E18i | 7.800 | 66% 7,800 66% 7,800 | 7,800 | 7,800 | 7,800
NU621 | 55B 81 | 7,800 | 66% 7,800 66% 7,800 | 7,800 | 7,800 | 7,800
NU625 | 55E18i | 7.800 |  66% 7,800 66% 7,800 | 7,800 | 7,800 | 7,800
RiEHR NUO70 | 55B1 81 | 7,800 | 66% 7,800 66% 7,800 | 7,800 | 7,800 | 7,800
NU604 | 55E18i | 7.800 | 66% 7,800 66% 7,800 | 7,800 | 7,800 | 7,800
NU606 | 55B1 81 | 7,800 | 66% 7,800 66% 7,800 | 7,800 | 7,800 | 7,800
NU608 | 55ERf | 7.700 | 67% 7,700 67% 7,700 [ 7,700 [ 7,700 | 7,700
NU612 | 55881 | 7,700 | 67% 7,700 67% 7,700 | 7,700 | 7,700 | 7,700
NU614 | 55E18i | 11,800 | 49% 11,800 | 49% 11,800 | 11,800 | 11,800 | 11,800
NU176 | 55881 | — — — — — — — —
NU084 | 55E1 R | 11,800 | 49% 1,800 | 49% 1,800 | 11,800 | 11,800 | 11,800
NU620 | 55B1 81 | 11,900 | 48% 1,900 | 48% 1,900 | 11,900 | 11,900 | 11,900
NU622 | 55E1Ri | 11,900 | 48% 1,900 | 48% 1,900 | 11,900 | 11,900 | 11,900
NUO78 | 55B1 81 | 11,800 | 49% 1,800 | 49% 1,800 | 11,800 | 11,800 | 11,800
NU628 | 55E18f | 7.700 | 67% 7,700 67% 7,700 [ 7,700 | 7,700 | 7,700
RS =24 %8 (IR%) % |_NUS551 | 55HAT | 3,800 78% ,900 78% 3,800 | 3,800 | 3,800 | 33800
RAC801 | 55H AT | 3.800 | 78% ,900 78% 3,800 | 3,800 | 3,800 | 33800
NU557 | 558081 | 3,800 | 78% ,900 78% 3,800 | 3,800 | 3,800 | 33800
NU559 | 55E18i | 3.800 | 78% ,900 78% 3,800 | 3,800 | 3,800 | 33800
NU563 | 55B1 81 | 3,800 | 78% ,900 78% 3,800 | 3,800 | 3,800 | 33800
NU567 | 55E18i | 3.800 | 78% ,900 78% 3,800 | 3,800 | 3,800 | 33800
NU569 | 55B 81 | 3,800 | 78% ,900 78% 3,800 | 3,800 | 3,800 | 33800
NU571 | 55E18f | 3.800 | 78% ,900 78% 3,800 | 3,800 | 3,800 | 33800
NU573 | 558181 | 3,800 | 78% ,900 78% 3,800 | 3,800 | 3,800 | 33800
EEES NU552 | 55E18i | 3.800 | 78% ,900 78% 3,800 | 3,800 | 3,800 | 33800
NU556 | 55B1 81 | 3,800 | 78% ,900 78% 3,800 | 3,800 | 3,800 | 33800
NU558 | 55E1Ri | 3.800 | 78% ,900 78% 3,800 | 3,800 | 3,800 | 33800
NU560 | 55B 81 | 3,800 | 78% ,900 78% 3,800 | 3,800 | 3,800 | 33800
NU564 | 55E18i | 3.800 | 78% ,900 78% 3,800 | 3,800 | 3,800 | 33800
NU566 | 55181 | 3,800 | 78% ,900 78% 3,800 | 3,800 | 3,800 | 35800
NU568 | 55E1Ri | 3.800 | 78% ,900 78% 3,800 | 3,800 | 3,800 | 33800
NU570 | 55881 | 3,800 | 78% ,900 78% 3,800 | 3,800 | 3,800 | 33800
NU572 | 55E18i | 3.800 | 78% ,900 78% 3,800 | 3,800 | 3,800 | 33800
RAC804 | 55E1 7] | 3800 | 78% 3,900 78% 3800 | 3800 | 3800 | 33800




JAL/JTA/JAC/RAC

[R#EN5|7 BER(OA1B~14H. 18~30BERS)

EEEAH 2012/7/24 ~
snes A 9/1-13 | vx e
XA gmmD | e o/14 BEM ez
XD | XE@ | 9/18-30 "
HECHR) =524 [EECHHA)Z| 4 (3i8) [JAL/JTA[JTA/RAC| 36,000 38%
=a% |48 (3%) |JTA/RAC|JAL/JTA] 36,000 38%
RRCHE)=R1E [FxECHR) [P #EG8Z) [JAL/JTA[  JTA 36,300 43%
FiEFE  |PEGREHE)| JTA |JAL/JTA| 36,300 43%
KB (FFH =214 [Kir (F) 448 (FR8)| JAL  |JTA/RAC| 32,800 37%
=o¥  |HEEGRE)|JTA/RAC|  JAL 32,800 37%
K (BEFR) ==t | KB (B8FE) 5|48 (FER) | JAL/JTA|JTA/RAC| 32,800 37%
=ha% |48 (3% |[JTA/RAC|JAL/JTA] 32,800 37%
K (R =hR1E [ KERUFFD |6 GRER) | JAL JTA 36,100 37%
AiEFE  [PHEGEEHR)| JTA JAL 36,100 37%
KB (B7) =RiE | Kix (BAf) F| 4 GRER) |JAL/JTA|  JTA 36,100 37%
RiEE |4 @REH)| JTA  |JAL/JTA| 36,100 37%
ZEE(ME) ==4|25EHME HEFRZEE)| JTA |JTA/RAC| 34,200 39%
=Eo¥  |HPHEGRE)|JTA/RAC|  JTA 34,200 39%
LZHE(PE) =FiE(4E5E (F&H) X[ ;hiE (B[ JITA JTA 36,200 41%
AiEHFE  [PHEGEEHR)| JTA JTA 36,200 41%
HIRFF) =@B@B [FALREFTHR R ERCHIH)| JAL  [JAL/JTA| 41,000 45%
K (B87)| JAL [JAL/JTA[ 41,000 46%
ZHEECPE)|  JAL JTA 41,000 46%
2 JAL JTA 41,000 48%
P8 (BRER) F| R CHHE) |JAL/JTA|  JAL 41,000 45%
ABR (B8F8) [JAL/JTA[  JAL 41,000 46%
ZHEECPE|  JTA JAL 41,000 46%
i) JTA JAL 41,000 48%
B == BRI [PE@RZE)| JTA [JUTA/RAC| 26,200 42%
=EoX  |HPHEGRE)|JTA/RAC|  JTA 26,200 42%
2 =xRia 2% [PEGREE) | JTA JTA 34,900 31%
AiEH  [PHEGEEHR)| JTA JTA 34,900 31%
M= IaFE PR (BRE)| JTA  |UTA/RAC| 32,500 44%
=Eo¥  |HPHEGRE)|JTA/RAC|  JTA 32,500 44%
INR=FR18 INRFE |PRERER) | JTA JTA 36,300 43%
AiIEHE PG| JTA JTA 36,300 43%
HL==% ML [ GRE)| JTA |JTA/RAC| 28,400 45%
=Eo¥  |HHEGRE)|JTA/RAC|  JTA 28,400 45%
HIL=R"1i MWLFE  |HPEGRE)| JTA JTA 37,000 35%
AiIEHE PG| JTA JTA 37,000 35%
HEEAE) =FF [P GRE) ¥ ER (FH) [JAL/JTA|  JAL 37,200 48%
FHE  [EZEEHA)|] JAL [JAL/JTA[ 37,200 48%
ks (ABER) = =R | hiE (FBFR) F|HR CFH) |JAL/JTA|  JAL 37,200 47%
=R%¥  |EmEIHA)| JAL  |JAL/JTA| 37,200 47%
ke (ABER) =% A | hiE (BBFR) F|HR CFH) |JAL/JTA|  JAL 36,000 45%
MEX [ERGHA)| JAL  [JAL/JTA[ 36,000 45%
ks (ABER) = WLz | hiE (BBER) F| B CFH) |JAL/JTA|  JAL 36,000 39%
W% [HRECHHE)| JAL  [JAL/JTA| 36,000 39%
RGNS =LE PEGRE) | {8 JTA JAL 38,900 45%
=% 12 JAL JTA 38,900 45%
ks (ABER) =/ | hiE (BBER) F | B (CFIH) |JAL/JTA|  JAL 34,900 44%
MaF |EFEmEIA)| JAL  |JAL/JTA| 34,900 44%
i (RER) =30 P (GRER) F| 12 JTA [JAL/JAC| 25,200 51%
SAHE 2 [JAL/JAC] JTA 25,200 51%
RGNS =L PR GRER) | {8 JTA JAC 23,500 51%
NIIE S 15 ] JAC JTA 23500 | 51%




-
[F#EI5128 1 EER(9A10H~3I0AEES) JAL/ITA/JAG/RAC
EGEAH 2012/7/24 ~
N [ /14 | g [
A Zeib® BERH 9/10-13 fﬁ;% s |9/18-21 f—;];i e 9/24-30 fﬁ;% e
RED | RE - 9/23 | ® =
RRCHE) =2 /R CHA) #| 448 GBH) | JAL/JTA|JTA/RAC| 22,200 | 62% 22,200 | 62% [£:23,700 22200 | 62% |%:23,700, £:22,400
EoS |8 (E) [JTA/RAC|JAL/JTA| 22,100 | 62% 22,100 [ 62% 22,100 | 62%
RE(PH) =R1E[ER (P8R %[ HE GBH) [JAL/JTA[ JTA | 25400 | 60% 25400 | 60% 427,000, H:25000 25400 | 60% |%:27,000, £:26,900, H:25,000
AiEH  [HME@H)| JTA [JAL/JTA| 26,600 | 58% 26,600 | 58% |H:27,400 26,600 | 58% |H:27,400
KR (FF) =2 & | XRUFD FH@BEH | JAL [JTA/RAC| 17,900 | 65% 17,900 | 65% 17,900 | 65% |+:19,400
Bl |48 (BT [JTA/RAC| JAL | 17,900 | 65% 17,900 | 65% 17,900 | 65%
KR (BFE) == & | ABR (Bia) % | 548 (IBF) | JAL/JTA[JTA/RAC| 17,900 | 65% 17,900 | 65% 17,900 | 65% |+:19,400
= | 348 (BF) [JTA/RAC|JAL/JTA| 17,900 [ 65% 17,900 | 65% 17,900 | 65%
KBR () =R B[ KR (FFD @ GBH) | JAL JTA | 20,300 | 65% 20,300 | 65% |%:21,900 20,300 | 65% |%+:21,900
AiEHK |[HE@EB)| JTA JAL | 24900 | 56% 24900 | 56% |H:26,500 24900 | 56% |H:26,500
KR (B78) =R 18| AR (BIF) %[ 548 GBF) [JAL/UTA[ JTA | 20,300 | 65% 20,300 | 65% |%:21,900 20,300 | 65% |%+:21,900
AiEH  [HE@H)| JTA [JAL/JTA| 24900 | 56% 24900 | 56% |H:26,500 24,900 | 56% |H:26,500
AHE(RE) =2%[2&R P EPMPBH) | JTA [JTA/RAC| 20200 | 64% 20200 [ 64% |%:21,900 20,200 | 64% |%+:21,900
EE% B3R5 [JTA/RAC| JTA | 20,200 | 64% 20,200 | 64% [H:21,900 20,200 | 64% |H:21,900
ZHE(hEh) =RE|&HE (P % (BH) | JTA JTA | 24700 | 60% 24,700 | 60% |%:26,400 24,700 | 60% |% 1:26,400
AiEFK |[HE@IB)| JTA JTA | 24700 | 60% 24,700 | 60% |H:26,400 24,700 | 60% |H:26,400
AT =P8 [ HIRF TR ERCHE) | JAL [JAL/JTA[ 27,900 62% | 7:28500 | 27,900 62% | A:28,500, :31,900, H:32,100 | 27,900 62% | 7:28,500, £:31,900, 1:29,000, H:32,100
KBR (BHPE) | JAL [JAL/JTA[ 25000 | 67% |A:26,600 | 25000 | 67% |A%:26,600, H:28,200 25000 | 67% |A%:26,600, £:25,800. H:28,200
AEE(PE)|  JAL JTA | 30,300 | 60% 30,300 | 60% |%:31,300, H:31,100 30,300 | 60% 1,300, £:29,700, H:31,100
12 JAL JTA | 25600 | 67% 25600 | 67% |%:26,900, H:28,000 25,600 | 67% 6,900, H:28,000
S48 (IR ER) %[ R (FM) [JAL/JUTA[ JAL | 29,500 | 60% |A:30,300 | 29,500 | 60% |4:30,300. £:32,000, H:30,800 | 29,500 | 60% 0,300, £ +£:32,000, H:30,800
AR (B878) [JAL/JTA[  JAL | 27400 | 64% 27,400 | 64% £:28,200, H:29,800 27,400 | 64% |%:28,200, H:29,800
£EE(PE)| JTA JAL | 20,100 | 62% 29,100 | 62% |%:31,900, H:33,900 29,100 | 62% |%:31,900, £:29,800, H:33,900
Fi=AE] JTA JAL | 25600 | 67% 25600 | 67% |%:28,500, H:27,500 25600 | 67% :28,500, H:27,500
EE==5 |48 (BT | JTA [JTA/RAG| 15900 [ 65% 15900 | 65% |%:16,500 15,900 | 65% |%:16,500
|48 (BT [JTA/RAC| JTA | 15900 | 65% 15900 | 65% 15,900 | 65%
wE=H1E %8 GBF) | JTA JTA | 20400 | 60% 20,400 | 60% |%:21,000 20,400 | 60% |%:21,000
|4 (BE) | JTA JTA | 20,300 | 60% 20,300 | 60% 20,300 | 60%
IMA=EE |48 (BT | JTA [JTA/RAC| 22,100 [ 62% 22100 | 62% |%:24,500 22,100 | 62% |% 1:24,500
|48 (&) [JTA/RAC] JTA | 23900 [ 59% 23900 | 59% |H:26,900 23900 | 59% |H:26,900
INA=F1E %8 GBF | JTA JTA | 23100 | 64% 23,100 | 64% |%:25500 23100 | 64% |% +:25500
H 18 | P48 (BRE) | JTA JTA | 23,100 | 64% 23,100 | 64% |H:25500 23100 | 64% |H:25500
MAL=2& | R4 (BRFE) | JTA [JTA/RAC| 22300 | 57% 22,300 | 57% [£:25,300 22300 | 57% |% 1:25.300
|48 (BF) [JTA/RAC] JTA | 22300 [ 57% 22300 [ 57% |H:25300 22,300 | 57% |H:25300
fElL=FR1E [#8 GBF | JTA JTA | 21,800 | 62% 21,800 | 62% |%:24,200 21,800 | 62% |%+:24,200
SRR | JTA JTA | 25200 | 56% 25200 | 56% |H:27,600 25200 | 56% |H:27,600
HRE) =F R (FH) [JAL/JTA]  JAL | 30,800 | 57% 30,800 | 57% |%:31,600, H:32,000 30,800 | 57% |%:31,600, H:32,000
BERCRE)|[ JAL [JAL/JTA[ 30,100 | 58% 30,100 | 58% |%::34,900 30,100 | 58% |%:34,900, £:30,000
s GRE) R (HH) [JAL/JTA[  JAL | 28,800 | 59% 28,800 | 59% |H:30,100 283800 | 59% |H:30,100
BHRCHE)|[ JAL [JAL/JTA[ 28,100 | 60% 28,100 | 60% |%::30,000 28,100 | 60% |%:30,000
s (GIRE) =FkE [ R CHME) [JAL/JTA| JAL | 26,700 | 59% 26,700 | 59% |H:28,800 26,700 | 59% |H:28,800
HRCRE)|[ JAL [JAL/JTA[ 27500 | 58% |A:27,900 | 27,500 | 58% |A:27.900, £:31.600. H:27,600 | 27,500 | 58% |A:27.900, %:31,600, +:29,500, H:27,600
SPHE (ABER) = LTz b i (R % | WA (FMH) [JAL/JTA| JAL | 26,800 | 55% 26,800 | 55% 26,800 | 55%
W% |EmCRE)|[ JAL [JAL/JTA[ 26200 | 56% 26,200 | 56% |%:29,300 26,200 | 56% |%:29,300, F:26,400
B GRE) =& BB | 18R JTA JAL | 243800 | 65% 24,800 | 65% [:26,100, H:26,300 24,800 | 65% :26,100. H:26,300
=3 12 JAL JTA | 24800 | 65% 24,800 | 65% |£:25700, H:25,600 24,800 | 65% 5,700, H:25,600
SPEE (ABER) = /AR #8 (FRE) 5| A CAE) [JAL/JTA| JAL | 27,000 | 57% 27,000 | 57% [H:29,900 27,000 | 57% |H:29,900
MMAFE  [ERCAE)| JAL [JAL/JTA| 27,100 | 57% 27,100 | 57% |%:31,900, H:27,900 27,100 | 57% [%:31,900, £:27,800, H:27,900
R RE) =AM MR X EE JTA [JAL/JAC| 24,600 | 52% 24,600 | 52% & H:24,700 24,600 | 52% B
= 18  |JAL/JAC| JTA | 24,600 | 52% 24,600 | 52% |4 H:24,700 24,600 | 52%
PR (RER) = LB RB X ERE JTA JAC | 20,300 | 58% 20,300 | 58% [H:23,100 20,300 | 58%
ENIIE: fi=ta) JAC JTA | 20300 | 58% 20,300 | 58% |£:21,900 20,300 | 58%




